

V1

$$(1) \begin{pmatrix} x \\ y \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} \xi - \eta \\ \xi + \eta \end{pmatrix} \quad \text{or} \quad \begin{cases} x + y = \sqrt{2} \xi \\ xy = \frac{1}{2} (\xi^2 - \eta^2) \end{cases}$$

or

$$\begin{aligned} z &= (x+y)^2 - xy - x - 2y \\ &= 2\xi^2 - \frac{1}{2}(\xi^2 - \eta^2) - \frac{1}{\sqrt{2}}(\xi - \eta) - \frac{1}{\sqrt{2}}(\xi + \eta) \\ &= \frac{3}{2}\xi^2 + \frac{1}{2}\eta^2 - \frac{3}{\sqrt{2}}\xi - \frac{1}{\sqrt{2}}\eta \end{aligned}$$

or

$$\begin{aligned} (2) \quad z &= \frac{3}{2} \left( \xi^2 - \frac{2}{\sqrt{2}} \xi \right) + \frac{1}{2} \left( \eta^2 - \frac{2}{\sqrt{2}} \eta \right) \\ &= \frac{3}{2} \left( \xi - \frac{1}{\sqrt{2}} \right)^2 + \frac{1}{2} \left( \eta - \frac{1}{\sqrt{2}} \right)^2 - \frac{3}{4} - \frac{1}{4} \\ &= \frac{3}{2} \left( \xi - \frac{1}{\sqrt{2}} \right)^2 + \frac{1}{2} \left( \eta - \frac{1}{\sqrt{2}} \right)^2 - 1 \geq -1 \end{aligned}$$

$1 = \frac{3}{2} \left( \frac{1}{\sqrt{2}} - \frac{1}{\sqrt{2}} \right)^2 + \frac{1}{2} \left( \frac{1}{\sqrt{2}} - \frac{1}{\sqrt{2}} \right)^2 - 1$  or  $\xi = \eta = \frac{1}{\sqrt{2}}$  or

$$\begin{pmatrix} x \\ y \end{pmatrix} = \frac{1}{\sqrt{2}} \begin{pmatrix} \frac{1}{\sqrt{2}} - \frac{1}{\sqrt{2}} \\ \frac{1}{\sqrt{2}} + \frac{1}{\sqrt{2}} \end{pmatrix} = \begin{pmatrix} 0 \\ 1 \end{pmatrix}$$

or  $\frac{1}{\sqrt{2}} \cdot \frac{1}{\sqrt{2}} - 1 = -1$  or  $\xi = \eta = \frac{1}{\sqrt{2}}$  or

$$VII \vec{0} = A \begin{pmatrix} 1 \\ 0 \end{pmatrix} = \vec{a}_1, \vec{0} = A \begin{pmatrix} 0 \\ 1 \end{pmatrix} = \vec{a}_2 \text{ d's } A = (\vec{0} \vec{0}) = O_2$$

ॐॐॐ.

VIII

$$(1) \begin{pmatrix} a_1 & c_1 \\ 0 & e_1 \end{pmatrix} \begin{pmatrix} a_2 & c_2 \\ 0 & e_2 \end{pmatrix} = \begin{pmatrix} a_1 a_2 & a_1 c_2 + c_1 e_2 \\ 0 & e_1 e_2 \end{pmatrix}$$

$$(2) \begin{pmatrix} a_1 & 0 \\ c_1 & e_1 \end{pmatrix} \begin{pmatrix} a_2 & 0 \\ c_2 & e_2 \end{pmatrix} = \begin{pmatrix} a_1 a_2 & 0 \\ c_1 a_2 + e_1 c_2 & e_1 e_2 \end{pmatrix}$$

$$(3) \begin{pmatrix} a_1 & 0 \\ 0 & e_1 \end{pmatrix} \begin{pmatrix} a_2 & 0 \\ 0 & e_2 \end{pmatrix} = \begin{pmatrix} a_1 a_2 & 0 \\ 0 & e_1 e_2 \end{pmatrix}$$

(1)

$$IX \begin{pmatrix} 1 \\ 1 \\ 1 \end{pmatrix} \times \begin{pmatrix} 2 \\ -1 \\ 1 \end{pmatrix} = \begin{pmatrix} 1 & 1 & -1 \\ -1 & 1 & 1 \\ 1 & 1 & -1 \end{pmatrix} = \begin{pmatrix} 2 \\ 1 \\ -3 \end{pmatrix}$$

(2)

$$\begin{pmatrix} 1 \\ 2 \\ 1 \end{pmatrix} \times \begin{pmatrix} 3 \\ 1 \\ 1 \end{pmatrix} = \begin{pmatrix} 1 & 2 & 1 \\ -1 & 1 & 1 \\ 1 & 2 & 1 \end{pmatrix} = \begin{pmatrix} 1 \\ 2 \\ -5 \end{pmatrix}$$

(3)

$$\begin{pmatrix} 1 \\ 2 \\ 3 \end{pmatrix} \times \begin{pmatrix} 2 \\ 1 \\ -1 \end{pmatrix} = \begin{pmatrix} 1 & 2 & 1 \\ -1 & 2 & -1 \\ 1 & 2 & -1 \end{pmatrix} = \begin{pmatrix} -5 \\ 7 \\ -3 \end{pmatrix}$$

